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ROWN. AND SMITH T T

j,Mr._Brown one day noticed that 1f his age was written backwards =
; ight have been a2 and Mp.- %mith 25.3ut do' not think that thetr c
tkthey might have'been.)

Some questions oceurred to Mr. Brown, (l) Will it still be true.

again? If ao, when ? (4) If any two‘friends wait long enough,
will the time come when the age of one of them is ‘the age of the

other written backwards ?
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gthave the age of his friend Mr._Smith . (Fbr example, Mr«Brown  , ;.;,

qjages actually were these numbers ; this 13 only an examplg Qf what,*"'”'

V‘in a year B time that Mr. Smith's age 1s Mr. ‘Brown's written S

backwards ? (2) will 1t always‘be true ¢ (3) wiil 1t ever be true""




,-naown ANE SMITK.

’ year. (2) o0 it-certainly cannot always be true. (3) But it should
_ happen every eleven years. If Mr.Brown is 38 and Mr.Smith 85, in

.be_moré than a hundred, or if we go back to the time before Mr.

‘Brown was born!  (4) No, as a rule it is not possible for two

- the difference is a multiple of 9. S0, .unless the difference _ ’Y;
- betweeq the ages of the friends is one of the numbers 9, 18, 27 a..':_
‘ 'nxnxkuxx@xthnnniEth 1t wlll never happen. Of course,they ‘
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' 7(1) It will certainly not be true next year,becsause the nuﬁbers in

theftené”column cannot keep up with thg numbers in the unit column.

For instance, if Mr. Brown was 58 and Mr. Smith 83, next year
¥r.Smith would be 84, and Mr. Brown would have %o be_thig backwards,

that is, 48. But ﬁr. Brown chnnot leéb from 38 to 481;n.a single

eleven years they will be 49 and 94, and eleven years ago they
were.27 and 72. Ehere is trpuble,of course, 1if Mr.Smith gets to

friends to walt until this happens. The difference between ’\,_

'52 and 23 is 9, between 38 and 83 is 45 which is a.multiple of

; 9. Ir ono age is the other written backwards, you will always find

could be the same age , since O counts as a multiple of 9. Then

1tfwou1d happen, in a rather special-way,.wheg-they were txxxz;sxxnth.f

13 yearsToid} 22 years old, 33 years oiﬂ::and g0 on up to 99. .
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PUZZLES AND GAMES. -
. , ¢ w4

THE LIFE OF EASE. _
"You know, " said George, "Life is ﬁot really soc bad. We only work )
eight hours a day. That's only a third of our life. In ticimiipeen, ﬁ?&g 9
for instance, which is leap year with 366 days, that‘means we'pufr |
-in 122 days work. But we don't work op-Saturdays and Sundays.
N As there are 52 Saturdays and 52 Sundays in a year, that means you
tf',can knock off 104 days, and 104 from 122 leaves only 18. Then we | ,mé
have a fortnight's holiday at Christmas, another 14 days ;0 knock off,
which on1§ leaves 4 days. And there are at least 4 ‘public holidays.

in the year. That means, we don't do 'any work at all. " | _

Now there surely must be something wrong in George's argument.
But just what ie it ? ' /

o}

TIGERS AND ELEPHANTS.
This is a game played by children in a
India. First,you draw the shape shown here,
_ a pentacle. One player has a single black - L
counter ; this is the tiger. The_otner
player has six white counters - the ) ‘
elephants. First of all the tigér is put on the board,‘in-any 5;9
of the ten positions mafked.lThen one of the elephants is put‘on.
Now the tiger moves. A move is from amyxdmt where the tiger is,
along a line to the next dot, provided this dot 1is empty. Suppoae
T\ for instance,~the tiger started on 6 and thg first elephant was
put déwh:on 9. Then the tiger can move to 2, or 3, or 8, whichever
- it likes. When it has moved, a second elephant is put on,and the
! tiger moves againo 80 it continues until all the elephants are on the

! /f’} _ :
[P R S RrT N ..H._"l‘l et Aavrvhand o Qe ONL 'th 'board. theV ‘bOO aI'e aliowed |
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‘Every day he' cycles to school.

BUGWORTHY.

This is the plan of the township of
Bugworthy. Whoever laid it out had a
t14y niind,but not much imagination.
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John Buggina lives at the corner of Bee étreetand Wasp Avenue.

To avoid boredom, he tries to-cycle

to school a different way each day,xbut of course not going further

than he has to. Bach day he returns by the route he used that

morning. For how many daysfcan he cyclé to school without repeating -
the same route ? - L N

-
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A JIGSAW PUZZLE.

There are sope punzles thot ~re perfectly fuip,but when you re
told the snswer you ooy, "Oh, I novie thought of thot. I thournt it
vould be into fCﬂﬁlai 0 give you o Susmle of thic ind, then tell you
the wnower,nd then see 1f you could do o seecond puzzle broed on
ex-eily the sone ides. I suggest you otop reniing whenlyou coma to
the line of sturs below,ond howe o good try oF the fipaﬁ puzzle. I
you hoeve noh solved 1% aftor teging it for - wesk Gf nwb,reﬁd"mﬂ

bolar the 86002

Here iz the Piret yuzsle.  (INSERT DIAGRAI I.) Cun you cut

thisc dicgrow of sixbtoan scguorss into 3wo wisecs, which will f£id
borather cnd ke o porfoct gonore You do nobt necd to cut .cross

?
coy 0f the Little soucres, suwd I will glve you - hing 3 e-ch plece

cong lag Cighh Sol ras. Now stop reading &

Solubion £ the ficst punslic. One picce contoins the oo res

plned Ly 2, 8,4,6,7,8,10. If you cut thin nicec out, nc buen Lt 40

PR TR _. L . v ow _ vl L - ! N o . .o
Shive wrawecs 10,0:.5,1 are of the ton, nd oo ee 8 gticho ont ot the

L-.'t
f=ie

bovtom, goun will enily 4t

L
The soeond puside. (INSERT DIAGRAM IT. ) Hore io o disgeom of
AN Eleh A R T aquaroub Con wou eut ik into Hue | icess tot will

Juin vopother o wolie o perfoet 3o 0ore 2
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v ointo tho othor Dpices o it ko Tl 0P



xgun pe sure of winning every tine. ' ' _

e . L

]
¢
1
)
|
|
|
|
}
|
)
|
')

PUZZIES.  AND . GANES .

How to use these puzzles. - _ .
There is a riddie that «sks, "Why was 3Saul surprised when David's -

gtone killed him ¥ ¢ I do not think ang buay could guess the

answer , "Because such a bthing hsd never en vtered his head before.

Soﬁe of these ?uZzles ére like that ; the an&wer.is a clever‘triek

that nobody is expscisd o wbvk'out, but you are surprised or amuséd,
wheén you look ab the solutlion and see whot ik iso A
T; . Other puzzlgs'are cnes that, if you kecp trying then 1ong.enough

u

Week, longer 1if you are a very detsrnined rerson — you ought

;
o
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tof%ind the anvwergor & Falr part of the angwed.

A

pet

other puzzies oee what I call Tavestizations”.  With these,

gou have O ey unsll yqﬁ nivve @ lbL of Aafornadion, znd chea

you hove bto Look at thls informatlion and see if 13 suggcests anyihdar $o \‘
you.  You ean Lade a ricnsh over ohis, 1 you like.

N 'The gamss are,'fibst of all, gaes to nlay 3 somstimes,but not
'}?°*a ranes have a gecoct. LI you can find out the zecr ,Jou

LRl

alvays,

.

The Four Fours. - J .
Meny nunbers can Le written LY using the fisure 4 exnchly Zue
. : :

PN

Four tlrmas, with as aoay "+ 5 ~ % X 5 ¥ sisnsg a8 §0u~kwke Per

. é _
exuznple, you can write 18 ab 4d 4 4, or 45 as 44+ I’
: - 4 ' . ‘
64 as  {(4+4) x (4+4) - Phe brnacikets, Wl bthis last one, ean ;
that you Ab the addiflons befors the wuliiplicatlion, 56 that you geot
. ~ . : ‘ : 1
8 X 80 . .o ) - B
: . BVErY GUR0er
The puzzle is, can. you write &XAAKﬂEARﬁMkEEE focm 1 b0 10 ) j
o o . 5
inclusive in this w“é 7 : o :

. Ko special trick in this ; if you and your friends keep pegging 9

A SUP P

. S . ' : s . \ . 3
Cmmresr ok & H v ahineld PEad the sasweren 1n, Llme. or mast of tnern. - v e
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The signs above show how the bh¢neue mlll write the year we call

e

19566. I tnink the heat tPaﬂH!4t¢UL T can give iz to gay that Lhe%e

L sigqn tiean G 9 ., Every Chinese yemr 25 2"lettoer"andg a‘numbepd
\/ ) N e s . - " v e

5 Thcfc are tenletherg "-whlcn I will.usnobe by AsBsCoDy B B, Gy H, T, 5

the Chinese esll thenm ”H *@V*Q;Sﬁems“ 100G age Lueh 10re beautiful

S Bigus Uok them.  Thers ape twelva”nu;aaﬂﬂ”' Por w;'ch I use ougp

o
k)

ordinsry nuribors 1 o lua(Th@'Chinese ke iy "L“fbd ¢ Biuniches T, )

bvery yeur both oﬂe”letter”ano the nunper! ch Yigi Thus; 1954 A.D.
& é

wags an A 1 vesp 3 tﬁ& next y&ur,lgzsjwae B 2 : the Yo litLP C .
and £o O 1938 was & 10. Aiiler &, A beglons agaln , oo 1554 @ould
be A 11, and 1935 . B 1o After 13, we stard agsin with 1. 2o

1936 13 © 1. Ané w0 1 poes. one fventvally wersRRWXSESim  the

. -

_.igns begin bto bepeui themuselve.s > We come =oain bo an A 1 el
il Prom RARXAMERELIRAKY Ons A 1 yexr to the next A 1 yanpy iz calleﬁ
a_gycle. The question ¢Uy noy long 1o o cycle ¥ How long have

. - ) i
we B0 owadlt until the nexd H 2 your comny pomnd 9

&

13- 2 4 L. - 7 : : . )
This guestion ig o rother easy "Investization ™ I the woprgsy
s P WL L] - . - L pe )

3 "y VS o ..‘. TATE™ o £ e 3 E T TR o - H
Somen Lo the VOr&sh. YOu can write i all the regpa of ‘= Chinese-

§
B

B crele; and gec-how Ay there ape.  But you un reduce the loboup
Coneldapahly ip you it on o seltobile wrielk,

CHINESE CALINDAR. | “ - A *?



A Gl WITH SUONES.
Thids iafa‘game fPor two playvers. The first player puts on the

ground a faip wudber of atonss - pound aboutb f“beuﬂysaw. C The

gecowo playee thsn rﬂmovoc eilthoer onc or three stonesgwhichever 3{',
.. .ho likes. Then the “Pirst player renoves elther one or three.  and

so it goen on, the players taking esbones alterictédy . It does not

matter vhat you have dons in past moves ; at each move you nay buke
- .' '. o R
Cone op th'e:ee stones, whlehever you prefice {bu.'t. act two'd ) .- The
R B ' . ' . -
LJ“" r ”ﬁa*tuk( the lagt stone from the urcund ha% ¢0$te
*’;-f_'- Play thm:, pgame for o mmﬁﬁ#m @i S6E AF you can :i'ln Cths.
secpet. which 1° s pubher sarprising oae in vome
W "5. -“‘," S )
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THE POUR MOUR. ' ‘ :

There ars various soiutions. One way is o8 Dollows -

5 = & -.ga..% s 3= 4eded 3 4= 4o 4x(4 - 4)
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5= (4 x 4) 4+ 4
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You ean see thabt after 60 yeasrs frowm an A 1 yeéor, the et A1

will comey oand bhobt thio is the Tiess btime Thot wn A and o 1 cope

together agalin. 60 in Yaet 1iu tho wacllest mwibher that Jivides oot -
Tz L0 ond Ly 18 G therc ave 60 yeors In o eyele, and the 2exs
vesrs after 19:4, that io, in 1984.

Aovesrr placos an odd nuniber of svonsh on Gy peouiid,

he is ouce 0 wine It doog not matter

P

3 are bLoth oud pustborz.e I you

wibar, the veoult o avol. 1T you
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take an odd number away from an odd number,the result is even. If

you take an odd number away from an even number,the result is. odd. Now at

every move of each player,an odd number of stones are taken from the

pile.
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-, Septem- name for what we call "seven"
\\_14

1y eounting from "one" to "plonk"

(AT

THE SEPTEMS

In a 11ttle known 1sland,
there live a

roughly in latitude o7% g ,
curious race known as the Septems.

A Septem has
only one hand, and this hand has seven fingers.

When a Septem
counts, he pregses his fingers in turn on his nose.
~ Just as our counting is based on ten,

becauSe we have ten
fingers,'

30 the Septems' counting is based on seven.

When we write
23 we mean 2 tens and 3 units.

When a,Septem writes 25 he means
and he reads it "twentug-three" "Tug" is the

Fortunately the-Septems

2 sevens and 3

press very heavily when they write,so you Can always tell Septem

nuMbers by their being so black. Their 30 (thirtug) is our
Vel

21,; 40 (fortug) is our 28.

The only numbers”they use,of course,
are 0,1,2 5 4 5 6.

Our 7 is written 10 (tug) ; then comes 11 *
W
(tug—one, our 8) ‘and, 13 (tug-two, our 9) '

&

Just as we hava the word "hundred"

for ten tens, they have the
word “plonk" for seven sevens.

Instead of hundreds,tens and units
eolumns, there are plonks,tugs and units.

"4 tugs and 4 units ;

144 means 1 plonk,
; that is,

49 + 28 + 4 = 81,in our numbers-

1n Septem language.
Can you write out the Septem addition table,

from 030 to Qi§ ?
And the multiplication table. from 1 X 1 to 12 x 12 » (Rsmember 12
. At
is not "twelve“ ‘but "tug-two" or"nine"' )

In our arithmetic you can test whether a number divides by 9
by adding up the digits., e.g. 72 divides by 9,81ince ?+2 9. Is there

any table 1n the Jeptem Yaugunxm arithmetic¢ where the same kind of

fﬂ thing happens ?
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-~ BOLUTIONS. .
| THE3SEPTEMS. | | .
Go tigg The beét thing is to get a frie;d to check you from -

N

.

Ehix the answer below,while you eount from "one™" to "plonk".
One,two,three,four,five,six,tug. Tug—one,tug—two,tug—three;
' tug—four,tug-five;tug~six,twentug. Twentug—one,twentug-twb,
twentug-three,twentug-four,twentug-five,twentug-six,thirtug.
' _Thirtug—one,thirtug—two,thirtug—three,thirtug—four,thirtug—fiVe,
"thirtug-six,fortug. Fortug—one,fortug—two fortug—three,fbrtug-four,
&\;fortug-rive y fortug-six, fiftug. Fiftug—one?fittug—two,fiftug—three,

fiftug-four,fiftug—five,fiftug-six,sixtug, Sixtug-one,sixtug—two,
sixtug—three,sixtug-four,sixtug—five,sixtug~six, plonk.

Addition table. 0 1 2 3 4 b 6.
[T e et e ) e s e N i.
‘ " o 0 1 2 3 4 5 6 |
1 /1 2 3 4 5 6 10 /
2 {2 8% 4 5 6 10 11 |
3 13 4 5 6 10 11,“;9 4 'Ltuxgﬁ
. 4 {4 5 '6 10 11 12 13 - #kﬁ,(‘qka '
I ‘ _ ‘ B
s ‘ 5 {5 6 10 11 12 13 14 ¢
Lo \__/ - . : . ; , . J»\!..t <
Multiplieation 6 !6 10 11 12 13 14 15 | [uf
table. | : - i o
Sl 2 "3 4 5 & 10 11 12 $
L 172 8 4 6 6. 10 11 12 @
2i(i2 4 6 11 13 15 20 22 24 t
3.8 6 12 15 21 24 B30 B33 36 :
4 411 15 22 26 33 40 44 48 ]
5, 513 21 26 34 42 5O 55 63 ; :

10 :10 20 B30 40 50 60 100 110 120
11 11 22 33 42 55 66 110 121 132. S
1212 24 36 51 63 1056 1200 132 144

6. 615 24 33 42 51 60 66 105 | -?
¥

The 6 times table contains the numbersnﬁ,%ﬁ,g@,ﬁ§,%§;§},§9;§§,}9§

all of which add up to a multiple of 6.
It is interesting to notice that some results of ours are still

' - A v | o S VP T S N N B S




'*ffin the diagram. Two playars play SN D
1 ~.1n turns Each move consists in blacking out two squares,whiah

fx'must be next to cach other. When E:} player cannot find twc x@nnxx

721_1ost. ) qu 1nstance, if player A at his first move blackﬁd out L
"jsquares 2 and 3, then B did 7 and 8, then A 10 and 11, then_ S
B 4 and 5, the position would b

L ARG PRl -‘c“'*:-:\ s
; . f P T of g k
i | ; PP T \\ Y
P ! oF %" e
. R B g g - E_ P _a‘,n. ;‘_,/";g \:,\ \* r-,:h.,)‘_:\\if‘
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THE GAME cm OBLONG |

Iwelve sqnares are drawn,as ' {W“*f

1 i

Sy b,
e
e e

H
[T AN N ﬂ.mé._hmm__*_a._., LI

f}.neighbouring squares to black out, the game ends and that player haa‘.:»v

i

f'

N \“s ) ;;‘;"i,/é*“:g S

3 o e ) —

Now A cannot find two neighbouring squares,so A has lost.'

mmr»w

Who should win, the first player or the second ?  And how is 1t @&

be done %

7

There is a very simple rule for winning,but it 1s not at all easy

\

i

to guess. ¢

in
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' sonorroNs.
?HE‘GAME OF OBLONG. |
A, the player who plays first,should win. A's fipst mpve should’
3.be to blacken sqﬁares 6 and 7, the middle ones. Then,whate§er B _
does on one side of the board, A.does the ‘same thing on'the othef side.

o rem does 1 and 2, then A does 12 and 11 at his next turn. If B
- then does 8 and 9, A does § and 4. -

e 1

e

By this rule, A is bound £o win. For after every move of A s
there is a balanced pattern on the board ; 1 B can rind a space to
L-,get into on the right, there must be another space just like it for

" A %o use on the left. If B can find a space on the left, A can find an
exactly similar space on the right.

BT

IS

|
N
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to move. Only one elephant is allowed to move at a time,of course,
and the two players take if in turn to move. The elephants move
in the way described above - from a dot,along 2 line, to a |
neighbourihg dote ) |
' There is one thing-the tiged is allowed to do, that the elephant
cannot do. A tiger can jump over an elephant, provided there is an
empty epace on the other ,side of the elephant for the tiger tor
land in . This is rather like in draughts.elf the tiger. can catch
\¥/9n1y one elephant in this way, the tiger has won. Remember that the
' elephants cannot move until all six are on the board ; the elephant
player must be very careful where he puts them ! When the ‘tiger
has jumped over an elephant, that elephant is removed from the board._
Heh ‘do the elephants win ? They win, if they can force ‘the
tiger into a position where it eannot move at all. )
Please note that this game is not dealt with in the eolutiohe.
I only heard about 1t recently from an Indian friend,and I have not
" quite finished working out the theory of it. My impression is that
, the tiger should not wln unless the elephante are very careless indeed.
But I do not think the elephants can be sure of winning ; in actual
games they often do win, because-the'tiger makes a mistake.. Trj

playing the game,and see if you agree with this opinion.

n
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:list. One way of making sure is the following. . In WWWNNN, the Ws

SOLUTIQNS.

THE LIFE OF EASE
_ Georgé.is quite right at'the'beginning; when he says that wﬂfking

'8 hours a day for 366 days is the same total as 122 days of 24 hours.

But then not working on paturday means the loss of only 8 hours work,

whlech George regards as one—third of a day. So, when he knocks off

52 Saturdays, % he should subtract only 62 thirds of a-gay. The same

applies to all the other holidays he mentions.

BUGWORTHY.

i;_) To get to school,John has to go three blocks to the7WesF and

three to the North. The choice he has is in which order to do these.
Fér.instance, if he decided to go éll the way along Bee Street and.
then all the way up Moth Avenue, thls-would mean he went
West-West-West-North~North~North. If he 4id” 7
West-NorthfWESt—ﬁOrth~West-North this would give him a route shaped
like a staircase; Whichevep way he goes there must be thrge’"West"s
and three '"North's. We could write the two ways-just mentioned,
for éhort,‘as WWWNNN and WNWNWN. . The only difficulty is to make

-qure that we do not leave any possible ways out,when we write out our

come in the first,second and third place, so we could label this 123.
The N& of course fill the remaining three spacesQ The label for
WNWNWN Wiil be 135, -to show that W is found in the 1st,3rd and 5th rlaces.

"+ So the puzzle is really the same as if we had two teams ’ West:and North,

each with three mepbers, running in a race, and we had to write out all
the different ways “in which the West team could score places. It is

not hard to write this out in an orderly manner,as is done below.

JF
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_ | Solutions,2. 2 |
This glves first the lsbel (1like 123) and then the route ( WWWNNN ) -

corresponding to‘this-labél.

LABEL  ROUTE - LABEL -ROUTE  LABEL ROUTE
125  WWWNKE 0 834 NWWWNN 0 &56  NNNWWW y
124 WWHWNN . . 235 NWWNWN ST e ey e ey
125  WWNNWN 236  NWWNNW
126 WWNNRW: | e
- : 245  NWNWWN
134  WNWWNN @ 946 - NWNWNW
135  WNWNWN 0 -
136  WNWNNW 256  NWNNWW
145  WHNWWN- 345  NNWWWN
146 WNNWNW 346 NNWWNW
C 156 WNNNWW ‘356 NNWNWW
' =======:=:“_“:§:2 :f.:_;:_::z:j—"'.:::

3
~

This. table shows that there are just 80 different routes by which
John ecould go to school, without golng unne¢essarily far. So he could
cyecle on 20 school days without repeating his route to school. J
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" Winter 1954. 7 Dissectlon of Swastlka H how many squares . Cat & Mouse _

Spring 19564, i Long Division, Additions in Code ; Gmme with Stones ;-
Fifteen Puzzle. . . ' _
Summer' 15854. Parking. Shunting. Seribbles. _
“Autumn 1958. @ Morse Code. Bowling Averages. Jugs. .
Winter 1055. Game, Oblong. Brown & Smlith. Septems.
. Spring 1955.  Life of Rase.Tigers&Elephants. Bugworthy.
" Summer 1855. Indian Draughts. Number Squares. St.SKinnians.
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THE MAGIC APPLES.
This is an ole pugsle. It i 1ilke o piddle § no ong &vor guesscs

Seven cpplevownen wenit to maﬁketo The fir noed 20 onplan, the zocond
40, the turird 60, the fnx th BU,ohe LiLfth 100,the sixth 1380,the noventh
140 opples, Each wonan coarricd o noﬁice,ﬁgving on vhat vewrs she
would sell her a@blesu All the avtlcos were ex.ctly e nreiey ond the

(e ALL ths rpples uere

:_I'-

women lkept stpictly to whet the nobtices oo
¥

3

gold, =and esch womon vaeceived exaetly the ame ncunt of mtaey. How

uns thic voswmible 2 (The opples weze
) 5 aomobhing _

i
OoFf courmse Lthere ac

CHANGE FOR TEN SHILLINGS. :
I hove only silver mmimix  coling in uy pocket. I w1 un-bhloe o

ciionge a ten chilling note Por o freicend. What o the lowcoot caound
T ®X¥Ixme wmoney I em hove in wy pochot €0 (The ginnd-rd oilvor

coing wre holf-cromm,florin, shilling, pixoence and threepenny hib. )

@
1

ANOTHER GAME WITH STONIS.

In anzum the Antumn 1966 isoue of thic Journnl, I deseribed
grne with svones, which therce wis 2 very sluple cecret for winnin.
There ore nony gomes with obtoncs (Cnothor one woo deserihod in )

Suring 10954) nd cuite o 1ittle sidscr-tion in the wules rrlcn the

mdoy entively different. Cwn o you Diad out how o win with the
rolloering Pules 7 The Liret ployer puts dovn hoeop of oeoney

(more thon twenbty,soy). The pluyers then pick up the obtonss in jurn.
You aore dllowed to plek up four stonszs or one 5t0ne, vhichover you

vrafor,when it is your turn. (At ezch tursn you h-voe ~ froc CAGLCT,

4 op 1,; 1% does not motter whit you Gid in eqplicr turng. ) IHExzEsERd

L BIzxyEr The Cirst plager dscides how iy stones to put dom (uny

\umber'over 20) 3 the second playef then pileks up, wnd after thot the
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SOLUTIONS.
A JIGSAW PUZZIE,

0 moke up pusslen

[l
e

otheite I you woab

Fon ehn geh Tron Lt Thape pusnlos (PO

1

0 molve. Mole ong wd ond try it on youp

(INSERT DIAGRAM III.)
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